Solar System Practice Test KEY

[Type text]


1. Venus, Mercury, Mars,  Earth, Jupiter, Saturn, Uranus, Neptune

2. Moon, Mercury, Venus, Sun, Mars, Jupiter, Saturn

3. A dwarf planet has NOT “cleared the neighborhood” around its orbit, while a full planet has.[image: image1.png]



4. Clyde Tombaugh
A: Convection Zone
B: Radiative Zone

C: Core

D: Sunspots

E: Photosphere

F: Chromosphere

G: Corona

5. A: “A planet’s orbit is an ellipse with a sun at one of the foci.” B: “Lines extending from the sun cover equal areas in equal amount of time.” C: “The square of a planet’s orbital period is proportional to the cube of its semi-major axis.” , [image: image2.png]



6. Tidal locking is when a satellite’s rotation is slowed by friction to the point that the rotational period is equal to its orbital period, so that one side of the satellite is always facing the planet, like our moon with Earth.

7. Saturn, Uranus, and Neptune
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9. Eris, Make-Make, and Haumea
10. Jan Oort

11. Comets

12. 3 light years

13. Pluto

14. A star passed close to the Sun. Huge tides were raised on the surface; some of this erupted matter was torn free and, by a cross-pull from the star, was thrust into elliptical orbits around the Sun. The smaller masses quickly cooled to become solid bodies, called planetesimals. As their orbits crossed, the larger bodies grew by absorbing the planetesimals, thus becoming planets.
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